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Time : 3 hours

Full Marks : 70

Candidates are required to give their answers in

their own words as far as practicable.
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The figures in the margin indicate full marks.
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Answer all questions.
T 7o & I |
1. frefofead 4 @ el R i 3w d: 15%3 =45
() ‘werSH qere et R ? ek wga et
i T Aifv |
(@) anfefeas = iR wasess fewdt & o et
2 7 foram @ feem S |
(1) areTiren STsaTerett 3 Fwtor it e v sus
FHIYM W YT ST |

XU -13/2 (Turn over)



2.

() ‘et # g =1 faem’ fowar w amafifa o
fefiaw |

(3) gemrafeh W o fafas w9t 1 9w go
T el 1 e iR |

(%) SHE=IR ATEAHT T 9T % Hew W Jeh STy |

(®) wasm qos fedt & g feamstt < f@=n
IS |

FrferRaa & & fort 2t et o I i

73%x2=15

(3h) TSR SrseTerett Y SuRifiar w wfdm e
HifST |

(@) TP 3R TASTHTT | |1 U ST Y dieqy
[ECEEICT IS 1l

(1) ST e T oY wrefireran <t wftm
HifsT |

() faea w1 & w9 A = faww w d@fiw
forfam |

(%) wwoeh wT o &9 | T <ht feurfer o wiftrw fedrem
Hifse |

XU -13/2 n k2 Contd.

3. Ffafaa axgis ool & s :  1x10= 10

() ‘wRIsHHeH foedt : gt ot Wi’ % orae
1 9 FaTd |

(@) Wt wfae & form ergeae 3 fewdt a0t asvm
1 &1 fHe ?

() ‘Functional Language’ ! R § ®=nshea & ?

(&) ‘Circular’ =1 fa=<t wise for@ |

(€) ‘TR Fr <Hh § e 3 7

(=) ‘|8’ = sh § w FRI AR ?

(®) st Tt T’ 1 geaTer Wt @ ?

(S7) &= w1 1 9gen WHER oA el @ gHRE
gem?

(=) R renfeoft e’ <Y o el g8 oft ?

(31) st @ o fo=dt o T w1 e fen
TR AT 7
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